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AROD : NS + SRRT + BT PRI
Subjects : MATHEMATICS + SCIENCE + SOCIAL SCIENCE
(33 @ =02 woNF SR / Kannada and English Medium)
(CCE-RF / CCE-RR / CCE-PF / CCE-PR / NSR / NSPR)

Y033 Fodes

KEY ANSWERS
Bodes zosd, 1 83-K/E Code No. : 83-K/E
2t BIARY ZosS; : 40 + 40 + 40 = 120 | [ Total No. of Questions : 40 + 40 + 40 = 120
DR/O® 5323%5

Subject : SCIENCE
B2 7,308,000 T, BNVA SFT OFRF TEPIRVR T, SORNTRY ACTBWINT. WRPNTS BOKCRT
YOZTTRY, 02 AR EBOINTOE  20.20.6TF. ( OMR ) WZT T,FoDD JeD 5w FF)
TD02008) LPLF TEN00EE FTFROT FOIINT oI 0DR Bere® SRR : 40 x 1 =40

Four choices are given for each of the following questions / incomplete statements.

Choose the correct answer and shade the correct option in the OMR Answer Sheet

given to you with a black / blue ball point pen. 40 X 1 =140
41. éacbé@tog%eoda EiNeialewe) 3BT SOTT W00 TONF AT RO TGN

(A)  DW,TBIT (B)  QTT Goet3Tk
(C) DTy RPCLIT® (D) QT T,

QWIT: (A QTTRIT
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42.

The device that works on the principle of electromagnetic induction is

(A) electric generator (B) electric heater
(C) electric motor (D) electric fan
Ans. : (A) electric generator

30 Q TREG TROOTIT 20T RWTLET T 6 Q dfaecjwa’% TROQTO ONDSELENS)
RTES0DNY, IV I BoHFATY w38,BYTOT0Z WReRILINT. BOBOTY, T)BLAIGTOT wedd,

2T, T T,
AWM
6Q 30 Q
I 1
K
— 111! —®- (o)—
9v =
(A) 4A (B) 36A
(C) 0.25A (D) 0.6A

evgo: (C) 0.25A

An electric lamp whose resistance is 30 Q and a conductor of 6 Q resistance are
connected in series to 9V battery as shown in the figure. The total current flowing in

the circuit is

AWM
6Q 30 Q
1 1
K
— 111! —®- O
9v
(A) 4A (B) 36A
(C) 0.25A (D) 0.6 A

Ans.: (C) 0.25A
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43.

44,

45.

3 83-K/E
@dsosﬁces w;mriés 5@&9@9@5& WO FTED AT
() BB B,EFORB (B) APTITANRY Feol, 308083
() =083 HROIVFTI, TEMEDTTS (D) T3, TDTI Boc0ERTITTS
evgo: (D) ), TOWI), &0BRZT

The inner wall of the solar cooker is painted black because this

(A) reflects light (B) converges solar radiations
(C) prevents from rusting (D) absorbs more heat
Ans. : (D) absorbs more heat

DT, TFWSE T 0BNTY, WFRT LT
(A) &R, 0Ndex* (B) eonzx*
(C) B (D) 35,0800300

evgo: (B)  Lonzx’

The metal used in the filament of an electric bulb is

(A) manganese (B) tungsten
(C) nickel (D) chromium
Ans. : (B) tungsten

TO, T SONTIFTOTT FoSD ROTIPOITY, Fo0ZFES,TY, STONATRN )08 AW, T T)30HT

080, &, 31300 WTSRNORYT)
(A)  TB BOBINTIRTY (B) 20T AEMRTY
(C) ©3F BRI (D) ToOFe 2,00 WENRTY

go: (C) wir DER

A rectangular coil of copper wire is rotated in a magnetic field. The direction of the

induced current changes once in each

(A) two revolutions (B) one revolution
(C) half revolution (D)  one-fourth revolution
Ans. : (C) half revolution
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46. 20T WORNRTT FONROTRTR) + 0°50 m STT [ORRTT ARTOT, € WO P
(A) +2°0 D 03 2T BORRT (B) +2°0 D @) ) WORRT
(C) —2°0 D =) Ay WRRT (D) —2°0 D &3 &6 BoRRT
QVFT: (A)  +2:0 D WP Q6T BoRRT

The focal length of a lens is + 0.50 m. The power of the lens and type are

(A) + 2.0 D and convex lens (B) + 2.0 D and concave lens
(C) -2.0D and concave lens (D) —-2.0 D and convex lens
Ans. : (A) + 2.0 D and convex lens

47, QTTROBOTY, &aeqﬁwa’% WHTOOWTLD WEROR TS
(A) dpe@ij&ae@scf (B) @ewso?
(C) mge)aémeme@sce (D) ®ojfaemwé3€
Qgo: (D) Go:'ifaemw e3°
A device used to change the resistance in the electric circuit is
(A) voltmeter (B) ammeter

(C) galvanometer (D) rheostat

Ans. : (D) rheostat
48. WOTD ﬂmﬁmoﬁs‘; S WHPINTY, 5208¢030 WOTeINR IRR0ET ATYTeadn$od oS, %zdéﬁ

59060 ARSTI0ITS WwHPNBY, 5208563,

(4) @303 émw plevkcin (B) QTTRTENTOZT

(C) RARFEBRNTOZT (D) DTTH,[OTOOT HPVOERNTOZTI
ZT: (B) DTCRTDONTIZE

The magnetic field lines inside a solenoid are in the form of parallel straight lines. The

reason for this is, the magnetic field inside the solenoid is

(A) very high (B) uniform
(C) zero (D) produced by electric current
Ans. : (B) uniform
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50.

51.

5

83-K/E

20T WRIWS), QS WOARTT TS FoMed F WZ) TF°Ee0r, O ¢ IWowT Q0N

GVOEIDIMOT 33, EW0TT BT WO3) T,
S -

A) 0T

3, 560 03 BRBEAHIT (B)

C)

3, SSFIHT I WITNTTS (D)

wgd: (A) 0, Fe3 F0B TRBINTTS

X3, 3SFIOT Y UFEONTITTS

X3, BSHIHT T FRBINTIZE

The nature and the size of the image formed when an object is kept between the

principal focus F1 and optical centre O of a convex lens are

(A) virtual, erect and enlarged (B)
(C) virtual, inverted and small size (D)
Ans. : (A) virtual, erect and enlarged

real, inverted and small size

real, inverted and enlarged

QT F*TFOZY, 80087 TFAINN TOBSFRIW THI

(A)  DW,TBIT (B)
(C) 53&'%@@65 (D)
evgT: (D) DT T R’

The device that converts electrical energy into mechanical energy is

(A) electric generator (B)
(C) drycell (D)
Ans. : (D) electric motor

2335¥ OUOTD BTWT SI DFEITINT

(A) @mﬁ QYPWR003T (B)
C) HTF T (D)
Zo: (B) T

‘Ohm’ is the SI unit of

(A) electric potential difference (B)
(C) electric current (D)
Ans. : (B) resistance

TOTERCS

éacﬁaéaeﬁmmce

solar cell

electric motor

resistance

electric charge

1601 (KA
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52.

53.

$YNT SRCTFHIY MR :
SEERG | @3 eqm e o8
P 1-52
o) 1-44
R 242
S 1-33

QIR 33,53, BRG OB, IFET HWen ©98,08 T3, ?

A) Q (B) P

€ S (D) R
wgs: (C) S

Observe the following table :

Material medium Refractive index
p 1.52
0 1.44
R 2.42
S 1.33

In which material medium the speed of light is very high ?

A Q (B) P
(€) S D) R
Ans. : (C) S

SR, FLAINT® DTWT §,030T0030Y, IO TR

() SRFLOD DT 3,08

(B) 030088 TS SR, § LoD T 8,03

(C)  2ETOFE 8,03

(D) SR AN O 3,03

Q0FT: (B) D030, BTHY TR, 30D ITIR 8,05
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7 83-K/E
The source of energy in nuclear power reactor is
(A) nuclear fission reaction
(B) controlled nuclear fission chain reaction
(C) exothermic reaction
(D) nuclear fusion reaction

Ans. : (B) controlled nuclear fission chain reaction

33 FPNTRNYEY_ Q.6 WOBRTT 2,083 7LD, AT

(A) TIP3 3TN 28e0Q, eTOROZT

(B) ©one TTZNT B, TY, Z0NTOZT
(C) =, WY FeT T, SLWOWT), YVOLOTRBITT
(D) 502NYY. é@omﬁm@ 05,39, dwwmﬁdagd

V3T (D)  ©oINYY, FWND, T, BY BHNTOZT

One property of a convex lens among the following is that, it
(A) diverges the light rays

(B) is thicker at the edges and thinner at the middle

(C) forms real and erect image

(D) is thinner at the edges and thicker at the middle

Ans. : (D) is thinner at the edges and thicker at the middle

1601 (KA [ Turn over
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55.

56.

5330, OB T, T, TNPTRET TN BSFATIHN ©B[ed 0TI LTI, GUS$ B[RS FO03T
(A)  ©©O0VCI0 B T (B) oWW,T &F &
(C) BFWHT Q'B@N & (D) RRe&cH0 Q%N &

GVIT: (A) OO0 eféN &

A compound that reacts with both acids as well as bases to produce salts and water is

(A) aluminium oxide (B) copper oxide
(C) iron oxide (D) sodium oxide
Ans. : (A) aluminium oxide

T, €T, T TUTOARE,

T
I
(A) H—C—?—?—OH
I
H H H

Lo
Il
(B) H—C—?—C—OH
I
H H

H H H
(c) H—C—-C—-C=0

I
D H—C—C—C—H



57.

9 83-K/E

The structural formula of propanal is

Lo
|
(A) H—C—(II—?—OH
|
H H H
H H O
[ |
(B) H—C—?—C—OH
|
H H
Lo
|
(C) H—C—(II—C=O
|
H H
[
|
D)H—C—C—?—H
| I
H O H
Lo
|
Ans.: (C) H_?_?_C=O
H H

TN MOEANTD SN TTBPED F085,080 HBBFE0T PYITIBIFINATY." B3 DO3VTIB/IY

3, &TRRRATITZTO
(A) @R, 0T° (B) Soordexm®
(C) TR ST® (D) T, RREE,

QIT: (D) TR, DR

“Properties of elements are a periodic function of their atomic number.” This law was
proposed by

(A) Newlands (B) Mendeleev

(C) Dobereiner (D) Henry Moseley

Ans. : (D) Henry Moseley

1601 (KA [ Turn over
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58.

59.

35 39N TIODRT 8,0NYRY MR
Fe + CuSO4 — FeSO4+ Cu

Zn + FeSO4—> ZnSO4+ Fe

31 00T 8, 0DNFOTT SRETRY 8,030 eI VLET 7

(A) Zn > Fe > Cu (B) Fe>Cu>Zn
(C) Zn > Cu > Fe (D) Cu>Fe>Zn
QgT: (A) Zn >Fe>Cu
Observe the following chemical reactions :

Fe + CuSO, — FeSO 4+ Cu

Zn + FeSO4—> ZnSO4+ Fe

The decreasing order of reactivity of the metals in the above reactions is

(A) Zn > Fe > Cu B) Fe>Cu>Zn

(C) Zn > Cu > Fe (D) Cu>Fe>Zn

Ans. : (A) Zn > Fe > Cu

20T POBONT TTWINEN xo&% 20 SNT. STOIT $R3F T %maé?cﬁ@q 9T 323 xo&?zg
A 2 B) 8

(C) 4 (D) 3

Qwgs: (C) 4

The atomic number of an element is 20. In the modern periodic table, this element
belongs to the period

(A) 2 (B) 8

(C) 4 (D) 3

Ans.: (C) 4

1601 (KA
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11 83-K/E
20T WD 96200 TWFONQTOT DBFLIOTNED 302 Quopny :3033?5 3,330z
(A) 3209 (B) 930203
(C) 6006 (D) 73025
Qwgo: (B) 9003
The number of single bonds and double bonds present in a structure of benzene
molecule respectively
(A) 3and9 B) 9and3
(C) 6and6 (D) 7and S

Ans. : (B) 9 and 3
RRCBOI0 THLRFICLF TOTOT F;TR, BRLOT STRTAONN BSFATIMN WEINBOTINIT IO

(A) WFS FwE T B) JFuERRI Fut &
(C) THTER R (D) 3RO

3T (A) WS Bt =

The gas liberated when sodium carbonate reacts with dilute hydrochloric acid is

(A) carbon dioxide (B) nitrogen dioxide
(C) hydrogen (D)  chlorine
Ans. : (A) carbon dioxide

ROQe@E FINFT WAV (CNG ) T B, 3T
(A) WL’ (B) B3
(C) eTset (D)  3pe[e®

IT: (C)  Qe®

The major component of compressed natural gas is

(A) butane (B) ethane
(C) methane (D) propane
Ans. : (C) methane

1601 (KA [ Turn over
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63.

64.

65.

ed dyx* TINTD), Fowm) wsawéﬁ WTUOUIRIT TR
(A)  ROEYT SPeETO (B) 30T Qe
(C) RReRO30 Fws,3 ,7° o, (D) =BT T®

wgo: (D) %3S IR

The substance that converts blue litmus paper into red colour is

(A) lime water (B) pure water
(C) sodium hydroxide solution (D) gastric juice
Ans.: (D) gastric juice

dReBT Y ,T7° STOTONTIY, SRNG &8 T NEmy N TOTEFBLD GUTOIRENTOI 8,03
(A)  TRORE (B) ®@00300F
(C) IR (D) QT,QPIS

QIT: (B) TBOOCINDE

The process used to convert sulphide ores of metals into their oxides is

(A) calcination (B) roasting
(C) reduction (D) electrolysis
Ans. : (B) roasting

T3 e° WY R BRLTE (I NYTET AITINT, WEIRRT,

(A) CgH, (B) CgHyy
(C) CgH,, D) CgH,,
wgd: (C) C H,,

The common molecular formula of both hexene and cyclohexane is

(A) CgHg (B) CgHyy
(C) CegHyy (D) CgHyp
Ans. : (C) CeHyp

1601 (KA
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67.

68.

13 83-K/E
2008 NBE SN 30353 BRTBOTQTT &5,
(A)  DTZReWT 3. (B) ©595° €&y
(C) AT w8, (D) @335 SOVl

QVIT: (A)  ROFIRCUT &5

An acid present in the stinging hair of nettle plant leaves is

(A) methanoic acid (B) oxalic acid
(C) citric acid (D) lactic acid
Ans. : (A) methanoic acid

BRITS  BeBDY, UL HTE,F, TP eeT W TRWI  3cdRTBEeD 3,003
Q03008 R0 Tomper D’

(A) ﬁ%@?ﬁj@ﬁe (B) ©&39%°
(C) 0o (D) g os

ewgd: (D) Fooss

The hormone that regulates carbohydrate, protein and fat metabolism in the human

body is
(A) Testosterone (B) Adrenaline
(C) Insulin (D) Thyroxin

Ans.: (D)  Thyroxin

BRFCINGTOT WeRNTIT FIOTHR), WoTd FZY FRFBONY, QBURNT. LVODETIT [oeedss
WG CIR0TRY WTT e FOY LINFITN QOIRNOTT. BeFFed Boeericy LLO0INGTIT
3006973 WL WFIT RN LIPMOTT. BT

(A) TIFOOATONOTSE (B) T8 TS
(C) TOTOTYRZSSS (D) ®COVISES

QIT: (B) T8 WROTTES

1601 (KA [ Turn over
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69.

70.

A pot that has growing seedling is kept in a dark room. A burning candle is placed
near it for a few days. The top part of the seedling bends towards the light of burning

candle. This is
(A) Chemotropism (B) Phototropism
(C) Geotropism (D) Hydrotropism

Ans. : (B) Phototropism
&;@5 QTPEITD 53@71@?7? TOWORATOZ VR)NT FOTRT TeP3. 83 TRINGD

(A) TORTTY BHwWoN FOTIS, CFTENAYTS

(B) oxT asgwagom; 3T BEANIT TIVCITY, YVOLIT/REIT

(C) QP FpeRFTD FTNYY, TJFITT TomDOIVBNY [ 0T, FOTY, BUAITS
(D) TOXTTTEY QeFFEO REIN YVPTONTEITE

QVZT: (A) TORTTY, ATEIN TN, BT TS

The correct statement with respect to biodegradable substances among the following.

These substances

(A) wundergo recycling naturally in the environment

(B) harm various organisms in the ecosystem

(C) increase the density of harmful chemicals in different tropic levels
(D) remain inert in the environment for a long time

Ans. : (A) undergo recycling naturally in the environment

BRI G0NT BoT[IREBY 38,0303, FOBIRITIT BOCIRT TSN
(A) ToNIIE, BT, Wew, YW,

(B) e, wREd, JJET, ToNITE

(C) wWeee, Wew, TTNITF, RIS

(D) wmﬁ%ﬁr, QB ST, 3R,69, Wew

¢vgT: (D) WONRIF, TS, W69, e

1601 (KA



71.

72.

15 83-K/E
The correct sequence found in the process of sexual reproduction in a flower is
(A) pollination, fertilization, seed, embryo
(B) seed, embryo, fertilization, pollination
(C) embryo, seed, pollination, fertilization
(D) pollination, fertilization, embryo, seed

Ans. : (D) pollination, fertilization, embryo, seed

QTN B T, NV BTN T é@mmq QORT BRWT V) DT, TR, YVFROZT “&d%ﬁ

PVTTOT/TTHBCITNTS
(A) 0T0m (B) Q03wg3
(C) TOTOWST (D) T emd@eé

WIT: (B) 0T

Saving electricity by switching off unnecessary work of lights and fans is an example

of

(A) refuse (B) reduce
(C) reuse (D) repurpose
Ans. : (B) reduce

TOOTOT TBRATD WEIDET WERT AR,WS) ( RRyy ) BT TS WD WORT ART (YY)
wRZ FOTTENAPATIN F; EPNODQ, G0 030N LewnEd

(A)  TOOTIT BB TATY WERNTY (B) map B0 TYO WeRNTL
(C) TOOTT ROB) BYD WEWN (D) xmp TOBY TATO LEWNTD

IT: (C) TOOWIT ROBY TYD WEWNTL
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73.

74.

If a round green seeded pea plant [ RRyy | is crossed with wrinkled yellow seeded pea

plant [ rrYY ], the seeds produced in F1 generation are

(A) round and green seeds (B) wrinkled and yellow seeds
(C) round and yellow seeds (D) wrinkled and green seeds
Ans. : (C) round and yellow

TB[O[OTRL WONNTD

(A)  2.0T3¢ D03 TS BHODT), LOTE DEEOD THOWFTTY, VIF &R
(B) 2.0T3¢ D203 TS BRHODT), YT 0003 FDOF YT VT LROTES
(C) T eS80 TS BHOWTY, 2.003¢ DESCI FIOF TR, VeI SAITI
(D) OV, Dedod TS TROQTW, AWF, 0830 FoONFNTFRY, VB LTOTI

eVZT: (B)  w0T3e Ded0dd TS TRODT), VT, 030 Fo0IF TR, ABF0TITI

Homologous organs

(A) have same structure and perform same function

(B) have same structure and perform different functions

(C) have different structures and perform same function

(D) have different structures and perform different functions

Ans. : (B) have same structure and perform different functions

BRTBS TEBE DO, WONNPOT TFRTIY, B,TO0E ANROT TFIENO
(A) SODFROINGD (B) SRez0moensd
(C) RRVFT STHROWND (D) ©RTFROIND

QZT: (D) HRTROIND

1601 (KA
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17 83-K/E

The blood vessels that carry blood from all parts of the human body to the heart are

(A) arteries (B) capillaries
(C) pulmonary arteries (D) veins
Ans.: (D) veins

85 ,030000 BURLT BN BT LTI, BRTZIBOZS
(A)  WPRIAREI (B) TO,8WOJ D
(C) evATE3 (D)  SAFT20TED

QVZT: (A) RIS

Plants can get rid of excess of water by this process

(A) Transpiration (B) Photosynthesis
(C) Respiration (D) Translocation
Ans. : (A) Transpiration

QRTVTED ITERESNY wacﬁag QT T3
(A) Bod,w (B) «m*
(C) =omnse (D) BReST0D

wgc: (C) RoANns

The gap between two neurons is

(A) dendrite (B) axon
(C) synapse (D) cell body
Ans. : (C) synapse

2R, £959 OO TFLIOT TPETFTOITY, B8 VIR LONT ATDR0T THES0T T3
(A) OB (B) 3030300

(C) nPrdees (D)  WT2030

QgT: (D) HRT203W0
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78.

79.

The embryo gets nutrition from the mother’s blood with the help of a special part
called

(A) Fallopian tube (B) Ovary
(C) Uterus (D) Placenta
Ans. : (D) Placenta

BRTIBS NOBY FOTHIRCEE PHRY, DeCINFED WBY W, NYTHER, AW T[N,
BRNFDINT

(A)  WRT,DTWETD Y (B) RRE,T¥

(C) QeODFTY (D) ®we3,30ee3

QUST! (A) T[ORT,VIRFTD To¥

The common passage for both sperms and urine in human male reproductive system
is

(A) Urethra (B) Ureter

(C) Vas deferens (D)  Urinary bladder

Ans. : (A) Urethra
33 FPNTYNE, CINR)TO wOBRCI0Y, TSN evzscdneenssey ?

(A)  ©0BEEOTIY BWoTOWSE BREZH

(B) QT BRTRMOROY,

(C) RREnon ) eRon’ &Te3BIY WBNBOTT

(D) AZ[AEAPH Sem008TTY, WBNATT

VT (C)  RREMON o) eR0M &, TeTVIY WBNBOTT

Which of the following is NOT the advantage of water harvesting structures ?
(A) Recharge the ground water

(B) Water does not evaporate

(C) Provide breeding grounds for mosquitoes

(D) Provide moisture for vegetation

Ans. : (C) Provide breeding grounds for mosquitoes

1601 (KA
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23e03ROTO 3F BT FoOT BIVPRNFR), =000 QEPTR TMOF CWITRMOR)DY, 2FOTT,

Y
(A) [OOSR NOLINTD (B) NPT NOLOND
(C) )W MOLINTO (D) TRWF NN

QVZT: (B) NPT MOLINTO

The experiences of an individual during its lifetime cannot be passed on to its progeny

because, they are

(A) inherited traits (B) acquired traits
(@] dominant traits (D) recessive traits
Ans. : (B) acquired traits

1601 (KA



